	1)  Eva paid $11.34 for a pack of 9 bracelets.  What is the price for each bracelet? 

A) $1.26

B) $1.32

C) $0.79

D) $2.61
	2)  Drake filled his car with 47 gallons of gas.  He was able to travel for 100 miles.  How many gallons of gas was used for each mile travel?

A) 47 gallons

B) 0.47 gallons

C) 0.0047 gallons

D) 4.7 gallons
	3)  Use the table to find out the price per pound of nuts.

Produce

Pounds

Total Price

Bananas

2.8

$1.43

Nuts

2.4

$3.72

Apples

3.2

$1.51

A)   $0.76

B)   $1.50
C)   $1.54

D)  $1.55

	4)  The lunch lady bought 16 pounds of carrots for $39.68.  How much did she pay for 1 pound of carrots?

A) $0.248

B) $2.48

C) $2.55

D) $24.80
	5)  Together, 4 friends bought some jeans for $88.32.  How much did each friend pay?
A) $22.80

B) $22.08

C) $23.00

D) $0.22
	6)  Mr. Brown needs to buy 24 gummy bears.  Lookin at the chart below, how much would he save if he bought them as a pack instead of individually?

Gummy Bears

$0.28 each

$2.13 per pack 

(12 gummy bears in each pack)

A) $1.85 

B) $2.46

C) $4.92

D) $7.23

	7)  Which step should be taken to find the quotient of 76.2 ÷ 10?

A) Move the decimal point in 76.2 one place to the left.

B) Move the decimal point in 76.2 two places to the left.

C) Move the decimal point in 76.2 one place to the right.

D) Move the decimal point in 76.2 two places to the right.
	8)  Which of the following is the best estimate of 87.3 ÷ 11?

A) 960

B) 90

C) 9

D) 8
_________________________________

9)  Which of the following uese show the best way to estimate 31.77 ÷ 8?

A) 31 ÷ 10 = 3.1

B) 40 ÷ 8 = 5

C) 32 ÷ 8 = 4

D) 30 ÷ 10 = 3
	10)  Kai lives on 36 acres of land.  He is going to build a playground using 2.4 acres of the land.  He will then use the rest of the acres and divide it into 0.3 acres lots.  How many lots will he have?

A) 116
B) 114
C) 112
D) 4

	11)  Daniel bought a gigantic pumpkin that weighed 297.81 pounds.  He wanted to split the pumpkin with 9 of his friends.  How many pounds would each friend receive? 

A)   33.9 lbs.

B)   33.19 lbs.

C)   33.09 lbs.

D)   3.309 lbs.
	12)  75.3 ÷ 100
A)   0.753
B)   7.53
C)   75.3
D)   753

__________________________________

13)  If 1792 ÷ 7 = 256, what is 17.92 ÷ 7

A)   25.6

B)   0.256

C)   2.56

D)   0.0256
	14)  28.14 ÷ 1.2

A)   0.2345

B)   23. 32

C)   2.34

D)   23.45


